2-27 Identifying Cost Drivers

The following list identifies several potential cost drivers for a manufacturing company that makes eight products. The company uses a JIT production system so it stores finished product for a very limited time. The 8 products vary substantially in size from small (plastic casings for pens) to large (plastic casings for truck instrument panels).

• Number of setups

• Setup time

• Square feet

• Cubic feet

• Cubic feet weeks

For each situation described below (activity and related resource), identify the best cost driver from the list and briefly justify your choice.

1. To produce a product, production mechanics must set up machinery. It takes about the same time to set up for a production run regardless of the product being produced. What is the best cost driver for the setup activity?

2. Instead of the situation described in number 1, what driver should the company use for the setup activity if it takes longer to set up for complex products, such as the instrument panel casings, than for simple products, such as pen casings?

3. What driver should the company use for warehouse occupancy costs (depreciation and insurance)?

The company uses the warehouse to store finished product.

4. What driver should the company use for the warehouse occupancy costs if it did not use a JIT system (that is, the company maintains inventories), and upon inspection, one of the products had a thick layer of dust on it?
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‘The following graph was constructed and data plotted to apply the visual-fit method. Then, the pre-

dicted total order-department costs for processing 90 orders was computed. Comment on the accuracy
of the analysis. Do your own analysis and explain any differences. Assume the data in parentheses are
accurate in thousands of dollars and number of orders.
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“The total cost function Is
TC = 200 + 2.50 X # Orders Processed

TCI90 Orders] = 200,000 + 2.50 X 90 = $200,225





3-34 Cost Function for Expedia

Expedia provides travel services on the Internet. 2002 was an important year for Expedia as it

reported positive operating income after three years of operating losses. In the first quarter of 2001, Expedia reported an operating loss of $19 million on sales revenue of $57 million. In the first quarter of 2002, sales revenue had more than doubled to $116 million, and Expedia had operating income of $18 million. Assume that fixed costs were the same in 2002 as in 2001.

1. Compute the operating expenses for Expedia in the first quarter of 2001. In the first quarter of 2002.

2. Determine the cost function for Expedia, that is, the total fixed cost and the variable cost as a percentage of sales revenue. Use the same form as equation (1) on page 100.

3. Explain how Expedia’s operating income could increase by $37 million with an increase in sales

of $59 million, while it had an operating loss of $19 million on its $57 million of sales in the first quarter of 2001.
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Codr Rapids Implements Company prodees fam mplements. Codar Rapids i i the process of
‘messuring its manufacturing costs nd is patculaly ntercsted in th casts f the manufacturing
maltenance aciviy,since mainicnance s 4 significant mixed cost. Actvity anaysis indicats that
‘maintenance activiy consists primarily of maiicnance labor seting up machines using certain sup-
plics. A sctup consists of preparing th necessary machincs for & patculr producton run of & rod-
. During scup, machines mustll b runing, which consumes enery. Thus, he costs associated
‘with maintenance inlude labor, supplics, and cnergy. Unfortunatly, Cedar Rapid' cost accounting
System docs o rsce thes cost (o miniensnce sty ssparstly:. Codar Rapids crmploys two fll-
ime maintenance mechanis o perform maintcnance. The annualsalary of  mainicnance mechanic
i5 525,000 and i consdered a fixed cost. Two lausibe cos drivers ave been suggested: “unis pro-
duced and “namber of sctupe”

Data had beencollectd fo the past 12 months snd a plot made fo the cos driver-—units of pro-
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1. Find montbly fixcd maintensnce costsnd the variable maintenance cost per drver unit using

the visual-ft method based on cach potential cost driver. Explain how you treated the April
iy
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3. Which cost driver best meets the cicria fo choosing cost functions? Explain.
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Auitors fo te Intrnal Reverue Service (IRS) scrtiniz income (o retums aflerthey have been
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Avaitors Procossing Rotums varance
355,400 0 B

1. Compute the planned costandthe ariance.

2 The supervisor believe thtsudit work should b conductd more productvely and thatsuperflu
s persomnel should b transfered o feld sudis I the foregoin dta ae epresentaive, how
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3. Lis some possibe reasons for the variace.

3. Describe some altermative cost drivers for processing income tax returns.
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2. Basdon the ABC resuls, which course ofation would ourcormmmend egsrdingthe proposal by
General Mators? List the bencfits and costs associated with implementing an ABC system at RAP.




